



$$\binom{n+1}{0} + \binom{n+1}{1} + \binom{n+2}{2} + \binom{n+3}{3} + \dots + \binom{n+m}{m}$$

Note:  $\binom{n}{k} + \binom{n}{k-1} = \binom{n+1}{k}$

$$\binom{n+2}{1} + \binom{n+2}{2} + \binom{n+3}{3} + \dots + \binom{n+m}{m}$$

$$\binom{n+3}{2} + \binom{n+3}{3} + \dots + \binom{n+m}{m}$$

$$\binom{n+m}{m-1} + \binom{n+m}{m} = \binom{m+n+1}{m}$$

Note:  $\binom{n}{k} = \binom{n}{n-k}$

$$= \binom{m+n+1}{m+n+1-m} = \binom{m+n+1}{n+1} \quad (c)$$

Q.  $\sum_{i=0}^n \sum_{j=1}^n \binom{n}{j}^i \binom{n}{i} = ?$

(a)  $3^n - 1$

(c)  $3^n + 1$

(b)  $2^n - 1$

(d) None.

$$\sum_{i=0}^n \left[ \binom{n}{1}^i \binom{n}{i} + \binom{n}{2}^i \binom{n}{i} + \binom{n}{3}^i \binom{n}{i} + \dots + \binom{n}{n}^i \binom{n}{i} \right]$$

$$\binom{n}{1} \sum_{i=0}^n \binom{n}{i} + \binom{n}{2} \sum_{i=0}^n \binom{n}{i}^2 + \binom{n}{3} \sum_{i=0}^n \binom{n}{i}^3 + \dots + \binom{n}{n} \sum_{i=0}^n \binom{n}{i}^n$$

$\downarrow$   $\downarrow$   $\downarrow$   $\downarrow$   $\downarrow$   
 $\binom{1}{0} + \binom{1}{1}$   $\binom{2}{0} + \binom{2}{1} + \binom{2}{2}$   $2^3$   $2^n$   
 $2^1$   $2^2$   $n=2$

$$(1+x)^n = \binom{n}{0} + \binom{n}{1}x + \binom{n}{2}x^2 + \dots + \binom{n}{n}x^n$$

Put  $x=1$ :  $2^n = \binom{n}{0} + \binom{n}{1} + \dots + \binom{n}{n}$

Put  $x=2$

Put  $n=1$ :  $2^1 = \binom{1}{0} + \binom{1}{1}$

$$3^n = \binom{n}{0} + \binom{n}{1} \cdot 2^1 + \binom{n}{2} \cdot 2^2 + \dots$$

Put  $n=2$ :  $2^2 = \binom{2}{0} + \binom{2}{1} + \binom{2}{2}$

$$+ \dots + \binom{n}{n} \cdot 2^n$$

$$= \binom{n}{1} 2^1 + \binom{n}{2} 2^2 + \binom{n}{3} 2^3 + \dots + \binom{n}{n} 2^n + \binom{n}{0} - \binom{n}{0}$$

$$= 3^n - \binom{n}{0} = 3^n - 1. \quad (a)$$

Hypergeometric Sum:-

$$\sum_{i=0}^m \binom{p}{i} \binom{q}{m-i} = \binom{p+q}{m}$$

8. Find the value of:  $\left\{ \sum_{i=0}^{100} \binom{k}{i} \binom{m-k}{100-i} \cdot \frac{k-i}{m-100} \right\} / \binom{m}{100}$

- (a)  $\frac{k}{m}$       (b)  $\frac{m}{k}$       (c)  $mk$       (d) None.

$$\frac{1}{\binom{m}{100}} \sum_{i=0}^{100} \binom{k}{i} \binom{m-k}{100-i} \left( \frac{k-i}{m-100} \right)$$

$$\frac{1}{\binom{m}{100} (m-100)} \sum_{i=0}^{100} \binom{k}{i} \binom{m-k}{100-i} (k-i)$$

$$\frac{1}{\binom{m}{100} (m-100)} \sum_{i=0}^{100} \frac{k!}{i! (k-i)!} \binom{m-k}{100-i} \cdot (k-i)$$

$$\frac{1}{\binom{m}{100} (m-100)} \sum_{i=0}^{100} \frac{k(k-1)!}{i! (k-i-1)!} \binom{m-k}{100-i}$$

$$\frac{k}{\binom{m}{100} (m-100)} \sum_{i=0}^{100} \frac{(k-1)!}{i! (k-1-i)!} \binom{m-k}{100-i}$$

$$\frac{k}{\binom{m}{100} (m-100)} \sum_{i=0}^{100} \binom{k-1}{i} \binom{m-k}{100-i} \rightarrow \text{Hypergeometric Sum}$$

$$\frac{k}{{}^m C_{100} (m-100)} \cdot {}^{m-1} C_{100}$$

HW  
Q. The coeff of  $x^4$  in the expansion of  $(1+x-2x^2)^7$  is :-  
(a) 81      (b) 91      (c) -81      (d) -91 .